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return theSum
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= def listsum(numList):
i '
O =/ s 3hnL Y 1 theSum = © |
/_a ) *Ergfﬁlﬂa ] ‘E‘F!!ﬂ]lﬁﬁﬁﬁzlnﬂ ? for i in numList:
=1 BL A~ fe flfor, L AAg Flwhile theSum = theSum + i
O
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print(listsum([1,3,5,7,9]))
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» BABHR—ANAUERRELTIKR - 2FFSREN

((((1+3)+5)+7)+49)
y =R, BFINERIZLHE , SR TFERIG N RIEEE o ELE .
(1+(3+(5+(749))))

y  EEXPNF  RRERNES (7+9) , IR EEAEIEITER |, 3C
fR LEEEANRFBIITIZERXAE : total= 1+ B+ (B+(7+9)))
total = (1+ (3 + (5 + 16)))
total = (14 (3 +21))
total = (1 + 24)
total = 25

 MBERIEPFAESIESE , AJLHERHIRIARXEF :
¥\t o= “HEAKT + CHRTHI i

listSum(numList) = first(numUList) + list Sum(rest(numList))
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def listsum(numlList):

if len(numList) == 1: HRES
il return numList[0]

else: ,
bR I return|numlList[0] + listsum(numList[1:])

print(listsum([1,3,5,7,9]))
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sum(1,3,5,7,9) —_ 1+ I 25 l-_—_i sum(1,3,5.7.9) |—_—
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‘ I ,
sum(3,5,7.9) — 3 ' sum(3,5,7,9)
L’l sum(5,7,9) - 5 ' sum(5,7.9) ' — i
|
sum(7.9) 7 ' sum(7,9) ' =

.1 sum(9) :l ' l sum(9) l —
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nl=n*(n-1)*(n-2)....*2*1, #.E0!=1
def fact(n):
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3 H A +AREH5: convString = "0123456789"
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»  FEREBEIAFZERINES

def toStr(n,base):
convertString = "0123456789ABCDEF"
%E—/J\MTE if n < base:
return convertString[n]
else:
return|toStr(n//base,base) + convertString[n¥%base]

BRES z’
a

orint (toStr(1453,16))
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y H—1MHREBRABNEE , RASICEBRNRNG ( SERMRENE
SPEE , LIRREIMEIE ) FEAFERBECall stack
R, ENRGG I HEARAStack Frameix i

SEREIITER , IREIR , EMERAENETRESR B , 18i&
[E{EREIETR , RSEiA , sEititkm , BHEHhR(0],

Remainder

L
toStr(10) onz | + | o g )
S —— ~— toStr‘(Z,Z)
n=2
* base = 2 »
HoNS) oiE pEQR'Y toStr(2//2,2) + convertString[2%2]
——— — _
toStr(5,2)
+ n=2>5
base = 2
toStr(2) L o 242 + | o .
e —— ? S— toStr(5//2,2) + convertString[5%2]
* toStr(10,2)
n=10 N
< base = 2 ﬁ
)\1t£ toStr(1) | 1<2 F—f 1 *Erl]*
S ——— — ~— toStr(10//2,2) + convertString[10%2]
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y e WnibFEe . Triangle. 2009
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def revstring(s):

y w5 EI3iAH ETAYE R £
def palcheck(s):
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y  PythonfYiBRA{EEBIRFturtle module
Python &, FilF=T H, VALOGOiE T &9 4] & A 4 o
HEZABRIE G LML RITME T 69T >
Je47: forward(n); backward(n)
¥ : left(a); right(a)
£ fk: penup(); pendown(); pensize(); pencolor(c)
» BRRE
import turtle #-F A3k
t= turtle.Turtle() #E£XR—Ri&®
w= turtle.Screen() #HRBFEZMNZ, ATRENELFANXA G2
t.forward(10)....... #AGIE 5 BAF R
w.exitonclick() #EBETH, RTERETUREXFET 2
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% y EIERR
% y  ETBR
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o

import turtle
t= turtle.Turtle()
w= turtle.Screen()

for i in range(5):
\iz;<5:/ t.forward(100)
t.right(144)

w.exitonclick()
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import turtle
t= turtle.Turtle()
w= turtle.Screen()

for i in range(4):
t.forward(100)
t.right(99)

w.exitonclick()

import turtle
t= turtle.Turtle()
w= turtle.Screen()

for i in range(5):
t.forward(100)

t.right(72) |
|
w.exitonclick() |

t= turtle.Turtle()

w= turtle.Screen()

for i in range(6):
t.forward(100)
t.right(60)

w.exitonclick()

import turtle
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import turtle

myTurtle = turtle.Turtle()
myWin = turtle.Screen()

def drawSpiral(myTurtle, linelen):

B/\E  0EEER if linelen > O:
myTurtle.forward(linelLen)
myTurtle.right(99)

NS | BERS drawSpiral(myTurtle,linelen- 5)

(UOWAD) PRI

E
:

drawSpiral(myTurtle
myWin.exitonclick()
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y  HeFractal , 219758 HMandelbrotFEIEIFEEF)
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BIPARPEEEIRS AE DR IERRYIE

B, LBk, We, =5, T, K
http://paulbourke.net/fractals/googleearth/
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g def tree(branchlLen,t):
RS ==t s> 1T branchLen > 5:

A0

B/NAR |, PITi15
[EAR40/E , BpA20
/NIRRT 15
BIA1520/E , BPEILE
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e import turtle

t.forward(branchLen)
t.right(20)

\

tree(branchlLen-15,t)

t.left(40)

EREBES

tree(branchlLen-15,t)

‘\ -

t.right(20)
t.backward(branchlLen)
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eEHT, BabHK, RESAME: LR HTHREZ K

g A | N ) y -
\ \ '-.I. J "r.\ / 'y
%A“xl ( / Lo def main():
b 5 t = turtle.Turtle()
N\ 4 myWin = turtle.Screen()
'.|... ."'II. ” . t.left (90)
L : t.up()
Hf t.backward(100)
| t.down()
t.color("green")
E , FF<ET5 tree(75,t)
myWin.exitonclick()
A

main()
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y SAGE | FEMHRENRE=AN  XFMRENREEFIE
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) B5% , REBEENSTE | BRERR = AR EE3 T ARSI RER
B =fAigiRm= A HEm k.

y BAFEMNEZHIEMBHRERE=MA (degree->~ ) , HEEM
degreeBIRATE(LIERZ.

y {EdegreeBRAIBRT , degree=nf=FH2 , EH3 1 degree=n-1
N=AFiziemFRiHEmek , [, X34 degree=n-1=HAH
BikidAdegree=nI=BIAI—F (FHERD ) .

Y degree=0, N#MA—NFA=AF, XRLBBPFLRLERLMH
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def sierpinski(points,degree,myTurtle):

colormap = ['blue’,'red’, 'green’, 'white’, 'yellow', \
‘violet', 'orange’]

drawTriangle(points,colormap[degree],myTurtle)

FN=AF ( ELAIRRF )

= AT ) if degree > O:
B/, 0BREH sierpinski([points[@], \

getMid(points[@], points[1]), \
hETANS U getMid(points[@], points[2])], \
getMidiD<iE

degree-1, myTurtle)
sierpinski([getMid(points[@], points[1]), \
points[1], \
getMid(points[1], points[2])], \
degree-1, myTurtle)
sierpinski([getMid(points[@], points[2]), \
getMid(points[2], points[1]), \
points[2]], \
degree-1, myTurtle)

ERBS  ELEAXF
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I import turtle

def
EigEIlmAFEAN =81
Eﬁ%ﬁ@
, IRERAETNR
,***”F!z‘*iE}E
3 U=
AT
5, IEI;ZEIJEIH,“J?BA

EREINIA AT =S S

def

BN REYR AR

def main():

drawTriangle(points,color,myTurtle):
myTurtle.fillcolor(color)

myTurtle.up()
myTurtle.goto(points[@][@0],points[0][1])
myTurtle.down()

myTurtle.begin fill()
myTurtle.goto(points[1][@],points[1][1])
myTurtle.goto(points[2][@],points[2][1])
myTurtle.goto(points[@][@],points[0][1])
myTurtle.end_fill()

getMid(pl,p2):
return ( (pl[e]+p2[@]) / 2, (p1[1] + p2[1]) / 2)

D /&

myTurtle = turtle.Turtle()
myWin = turtle.Screen()
myPoints = [[-200,-100],[0,200],[200,-100]]

FNECERAY3 NI

sierpinski(myPoints,3,myTurtle)

myWin.exitonclick()

main() [Edegree=30Y=FAH~
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 BABEEMED=EERSHiUAIEEE
RALBRES RO | defTa A, AR S

y (BREAIGSINEF | SE1HE | TEHRI3#E
Je Rl L@ o) —1BAAN T T R AIRP| 2845, IRRAAITRERT :
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Bl 2 A pikde i 6y —3E3NE-F B 344, FER T R K5 E-TARI#AZ
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) RBRRENTEE  SHPEE E’:FJJEIJ BiFtE
oA L AN-IAE A AR, WTEdbkE, B BARdE, 4533 F 4

REFFENNS (RAM) &R, MIFE4E4, #3035 B 4rdt;
R B AP R AEN-1NEH 89 R 3, 2hFdb4E, #5013 HArdt.

» BERERFN , BRERIHHRRER | 1MERAVEHIRE
»  LERIBEEAPythonEHE , NLFIRIESHIE—F

def moveTower(height,fromPole, toPole, withPole):
if height >= 1:
moveTower (height-1,fromPole,withPole,toPole)
moveDisk(fromPole,toPole)
moveTower (height-1,withPole,toPole,fromPole)

1
5
=
7S
—
=
©)

>

[

AT A S HUER G = A R 5 5 e /BR /2015



A AERER : XS

def moveTower(height,fromPole, toPole, withPole):
if height >= 1:

moveTower (height-1,fromPole,withPole,toPole)
moveDisk(fromPole,toPole)
moveTower‘(height-l,withPole,toPole,fromPole)|

AN
2R EERL

def moveDisk(fp,tp):
print "moving disk from",fp,"to",tp

moveTower(3,"A","B","C")

>
moving disk from A to B EEEYS | RS
moving disk from A to C L
moving disk from B to C
moving disk from A to B
moving disk from C to A BE . HEIRNARPYIRBITEE | WEEE
moving disk from C to B E.

A to B

jt_?moving disk from
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IXEREHELSHI : Maze Class

class Maze:

» Maze ClassBIpkR def __init_ (self,mazeFileName):
mazelist: A% Sy
columnsInMaze = ©
Tg rowsInMaze: 4%EM 69174k self.mazelist = []
= , mazeFile = open(mazeFileName, 'r")
% columnsInMaze: 4E[%a97%)%k rowsInMaze = ©
L\ for line in mazeFile:
o . rowList = []
ARSI e
(33 mazelist» TR T & for ch ir-l line[:-17:
Z rowList.append(ch)
mazelist[row][col]=="+" if ch == "5":
[, e S e self.startRow = rowsInMaze
et e SERSERER, S sl M S N B G s self.startCol = col
[+: b b B .y B ) )+J A ) ]: C01=C01+1
T A A R R i P AR F rowsInMaze = rowsInMaze + 1
L'#%" s "' fseaas” " et Lt B9 E'ls self.mazelist.append(rowlList)
[.+-’.+.,. ':' ') 'JI+'J'+IJ' '1'+IJ' ':' 'J'+']J columnsInMaze = len(r‘owList)
['+')I IJ' ',I 'J "J'+'J'+IJ' 'J' IJ' "I l."+'])
['+'JI+IJ'+'J'+'J "Jl+'J'+IJ'+'J'+IJ' .)' 'J'+'])
['+')I IJ' ',I 'J 'J'+'J'+IJ' 'J' IJ' ',I l."+'])
['+'JI I."+"'+') )' 'J' IJ' 'J' IJ' ')' 'J'+']J
['+')I I." 'JI ') J' 'J' I)' 'J' IJ' 'JI+'."+']J
['+')I+l1'+"I+IJ JI+'J'+IJ' ')' IJ' 'JI+'J'+']]
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y X, BREEHERIHOMEITEBEBUT -
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o,
R E@e T REAALE B, RAFEOANREZEG@aESH—F, REAE
B F B RAARERT FRE O,
R AL EARB B, RAFEOGRNRIZEqESH—F, REAHERN
Iz B PR RAREE S FHRE 0
e R LR AR B, A EGOGRBIZE G AL —F, REUERD
iz B PR RAREE S FHRE 0
o R W NG aA R AR e, IRAZA KT EAH !
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 LEXNBEEERRRSE , ERRMTEEXEE !
ﬁ%&mh%ﬁﬁh<ﬁ%>%ﬁ7é@ R 2 e R AL B AL E KT R — 3

Tg LEE IR AEFTZE a9 )3 A A ibiE G e 8 2K

% T’Txa%ﬁﬁ'iﬁéﬁﬁ% —#, EFH AL ATRALE

= XAEMIENT LIRB VI IR P

=N FREAREEMEIRICRER/EIRERS »
LRE Cae g, —Ea#e R ‘@’ AR BRREE, M B
‘)A/ﬁi}%j“"‘/\ﬁﬁﬁb ;
ST FRERRE, AALXE T TR LRI “@a/F” , L LBPAEL I H
)ﬂjé@,t'—é])zo

AT A S HUER G = A R 5 5 e /BR /2015



RREE | BiARE

X, BARNEDEBR “BEERFME FWNNT
QR T R T, BIEAASR, EEKK;

HBarsT ‘M T, AT AACITEE, BEFARER, BEX

;s
HORET ‘o’ FA, Bp YT %09EET oA, IR R, &
=] px, ) |

o AT AR R RN, @) R LR, BE KK

y 7:'1?1]:.@%7‘ L SEBMER , XS EIESEIMaze Classifi
t: f-/x\’i’]EI@é‘Jfé%, 1% H L shapeh @9+ T (BB Z—AA7K)

drawMaze(): L#IHEX FREF, FE R K ST &S
updatePosition(row, col, val): £ #EE{ZE, FHMRE

isExit(row, col): Fl¥r 2 & “dHo”
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ARIETH - =i =

o def searchFrom(maze, startRow, startColumn):

# try each of four directions from this point until we find a way out.
# base Case return values:

# 1. We have run into an obstacle, return false

*E maze.updatePosition(startRow, startColumn)

<t 1 ¥ maze[startRow][startColumn] == OBSTACLE :

5 K return False

# 2. We have found a square that has already been explored

£ maze[startRow][startColumn] == TRIED or maze[startRow][startColumn] == DEAD_END
return False

# 3. We have found an outside edge not occupied by an obstacle

if maze.isExit(startRow,startColumn):

maze.updatePosition(startRow, startColumn, PART_OF_PATH)

return True —r— .
maze.updatePosition(startRow, startColumn, TRIED) e EERE
# Otherwise, use logical short circuiting to try each direction

# in turn (if needed)

found = searchFrom(maze, startRow-1, startColumn) or \ 1t. . . &

searchFrom(maze, startRow+l, startColumn) or \ S kaa

J J l‘I

searchFrom(maze, startRow, startColumn-1) or \ dorait
searchFrom(maze, startRow, startColumn+l) AT orfViE IR &% |
L 1 REE— R
EEIU ,$m; ‘ Serrlaze.up atePosition(startRow, startColumn, PART_OF_PATH) ﬁELU, mUEﬁﬁﬁES%%tf
. =] 'EIE‘ :Z
W, FR maze.updatePosition(startRow, startColumn, DEAD_END) ?tz:ﬁﬁggﬁ&jr' Bi%

eturn found IR[E]ARIN !
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&I7SH%IDynamic Programming

y  HBENEZERIFSIEREE N T R R LA =R
Bl dmn A B Z 18] 89 m 4R AR
AR IFICHEL— A& 7)) & 69 B &
mRE— R AR RS

M2 RESHERRERAXLNS , BIXENEEN—HE ~
8 : AASHE)

IR —1 MR ZEFIR AT ik D SIRVEED

BIXMRA—KaHERI RpteF, A ERNRERREMER ) HE

1
5
=
7S
—
=
©)

>

D /&\

oy A2 T
RAX R E R 2SI T, ETE370 R T, £4keg63, M ARV K=+ L:
M Nquarter (¢€25) . —Adime (£10) #==/4-penny (¢1) , —Z6/

— A XA AR KREENAR TIFE, ARZZ0HE, A&HN, &
BT K\MERH, TARZLZNEKE, —HAFpenny (¢1) Ak
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ZSHY : SHRtED

y  IXMEEIA “AilbikGreedy Method”
B A AT E R AR B fE 2 9] AL 6 R K 69— 34

T B AR TR A, AFR AR SR F YR K @IER TR RR T EZE

y  “BIiE” EFETEHIEE ( quarter/dime/nikel/penny ) & >
IR

» BMRENBRRELEBHNERIN L OZIElbonia ( BRI EE
Dilbert BEHEMNER ) , SRMSHRER , BAXIMHENE
iR 7 LE3HEEZI JEE—W [¢21] ROEM !

y  $ZER“TII0NE” , EElbonia , ¢63bEIRKRIcMET
y (BEEfR ERERE3ME{EC 210960 !
y  “BIE KT
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raitEh - EIAREX

» BliIRFE—HMEERKIIRNBENGE , RATERNAE)T , 3B
XA A ERETRY

) BRERERTERFN  RIREHX I REREREEREIERER
&, FERRE , EEEEFSFTEMED

Je iR E25%, B EHALNL S -
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»  EIXERMEOEIEIE , EETEDRRE |, BiIE=id4X

REMF19 (penny) G, KILILAE TRV =0,

REBESSD (nikel) &, KB TRV K= 49E;

REMFE105 (dime) B, KILIAR fx V= a9 fF;

REME25% (quarter) B, KL TRV R E00MH;

FRATFRER AN, 1 + numCoins(originalamount — 1)
1 + numCoins(originalamount — 5)
1 + numCoins(originalamount — 10)
T A% A G 1 + numCoins(originalamount — 25)

D /&\

numCoins = min



SOIREETD - BUAREEACHD

def recMC(coinValuelist,change):

minCoins = change

' it change in coinValuelist:

E-Eid\;)nﬁg ' EEZZJ\EIEI return 1

A else: |

o o for 1 in [c for ¢ in coinValuelist if c¢ <= change]:

o ’}‘EJZ/J\;UHL'*E: numCoins = 1 + recMC(coinValuelist,change-1i)

’A’EZ?_*EFT]EHEEE if numCoins < minCoins:
HhiceE/ NI E minCoins = numCoins

return minCoins

print(recMC([1,5,10,25],63))
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SeREED : EBYARFET

) BTREEAGEERRE , BREXHMEE k! 2R !

X635 09 SUARAR TRl AR, & £t 4767,716,925 K% A !
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J AR EREHER, 4 EARITT BT 89 A f d Al

=) &Mi%fﬂﬁkﬁﬁ,ﬁﬁéﬁﬁﬁ X% .
Bl e R E 155589, XA EHILT 3K °

T REF 15 s &R 3L 2528 3% )2 18 F

X — B3 & 57 10412 8 F @ ° ° @

RFR, INHE RS G ERTEIHH
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SeiRtEmD © EBAREHE

y XXM TEUEHACRRETEIRESITR
BT AR— AN H IO FPRZERKEGLER, ETEINEERZAEARE
it Hit

y RENMFZENPRSERMEER KSR | EEFRATERE
ﬁ%ﬂ%ﬁﬁﬁﬁﬁ%?*
HERFFRZAT, AERET AT AR RE G KRB
o R A, B4R R R ST )28 R

REA, Fatiri)aif

y  BOHIBRIREE | IRKRDL TR RBRYIREL
ﬁ&A%ﬁﬁ&$M@,ﬁﬂm%znm 2R, RAXENO=T7FH
—, BFA ik
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SeREED : EBYARFECTHHES

def recDC(coinValuelist,change,knownResults):
minCoins = change
>+ change in coinValuelist:
knownResults[change] = 1 /RIS RE
return 1
211f knownResults[change] > ©:
return knownResults[change]
else:
for 1 in [c for ¢ in coinValuelist if ¢ <= change]:
numCoins = 1 + recDC(coinValuelist, change-i,\
knownResults)
it numCoins < minCoins:
minCoins = numCoins
ICREPD I ERIE knownResults[change] = minCoins
return minCoins

print(recDC([1,5,10,25],63,[0]*64))
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SeiRtED : ZNSHRIRE

y  EBIREIRRISUE AT LARIF bR R SemiEh AYaR |, (BicEHRESE
HWRBEAVERENR “FiR” |, EfRLE , XWBEEARERANE
gl , MEABT—H#HI{# “memoization ( EREEEF ) ” BRI
RIS T 2ARFERYERE , KB —RRFRA “caching (EFE) ”

) EESHRIEERE T —HEE B R DR -

SIEMREISRYEENEREN “198%%E" NREF R,
ZLiElLx  BEIFRIIFEAIHTEE

» EXRFENMNIER | GEFRSEF—SSRNENSBERNE , —H
NNEkAFHEEEE | BASEIRME

BINEIEEFRITRICEIXER | BARFE AR ETE
HitR , MEMEHNRMECEEIT.

S
E
=
i
5
&
%
/_a
S
@)

D)

D /&\

AT AR F IR G = 8B 5 5 e/ ot/2015



SeiRtEmD : ZSHEE

»  BAIREFUTRADSHEIRER1157 1095250
ML R SR TT 48

Change to Make

S EEs—AL#E

ol ESHELMA AL

- 5415 HE 1S H A

el 2 RINR R

= BT A 138 N & b
TR 4 % % 69 5% H R 4 T 13 21 A2
T @ &M E 119K 6 A2 g
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SeiRtED : ZNSHRIRE

 ITR1IZERRIRE | BAIRITLE
BAUSEREIMP RO TE, #IT1090K, TX, 105 KHRAMAL

RELDBEREINSS R TIE, FITentk, Tk, 60RMRAMBL2
e 110 AR mRE1AN 100 %0 TR, FIT1o%k, &&, 15RO RAHRL

X, 381, 3TRAIMILISEI13 LRI : 24 M@
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SRl : HISHIRIEECED

3

?? def dpMakeChange(coinValuelist,change,minCoins): ‘

% M19E - .

ARl for cents in| range(change+l)}

= coinCount = cents

e for j in [c¢ for ¢ in coinValuelist if ¢ <= cents]:
SRS EMEER if| minCoins[cents-j]/+ 1 < coinCount: "

coinCount = minCoins[cemnts-j]+1

minCoins[cents] = coinCount ERERS BN

return minCoins[change]

BIER | SRR
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IRED : EISHRIRIET R

y  BAESRESHMRIE ZRIdpMakeChange H A BETHET , BIARX
MARENERASEFRER , (BEREZFNGI—INEERENS
FVE|SERI=F S
ANEAX P REZORZMNK A LIFAFL B AT EREGHEIR, LH5— T
RIE AR R RF R RS RO RLAE, ARFIEAE,

) HIENSZCEFE FrRVEDNAE | BeFREEDINUES
VRS BRRE, AE B A RRAM IR B IRIZIT R AT R 4R
AT P ARER T
ERERBOMLIE, BMALRBHRT FE, DHERELZAGHIRE,
R X ek RS e R
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SeRiEm : SISHRIEET RS

def dpMakeChange(coinValuelist,change,minCoins|,coinsUsed):
for cents in range(change+l):
coinCount = cents
newCoin = 1
for j in [c for ¢ in coinValuelist if ¢ <= cents]:
it minCoins[cents-j] + 1 < coinCount:
coinCount = minCoins[cents-j]+1
newCoin = j
minCoins[cents] = coinCount
coinsUsed[cents] = newCoin
return minCoins[change]

14
5
&
=
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S
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5

def printCoins(coinsUsed,change):
coin = change
while coin > O:
thisCoin = coinsUsed[coin]
print(thisCoin)
coin = coin - thisCoin

:
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— def main():

amnt = 63

clist = [1,5,10,21,25]
coinsUsed = [@]*(amnt+1)

4 coinCount = [@]*(amnt+1)
5
ii print("Making change for",amnt,"requires”)
¢ print(dpMakeChange(clist,amnt,coinCount,coinsUsed), "coins”
o print(“"They are:")
= printCoins(coinsUsed,amnt)
e print("The used list is as follows:")
— print(coinsUsed)
main(ﬂ

>>>

('Making change for', 63, 'requires’)
(3, "coins")

They are:

The used list is as follows:

kit Bt e il b bt i@
5, 4, 3,1, 4,8, 40, 1,1, 1,90, 4, 1, 1, 1.5, 90, 84, 4, 4, do. @ 1, i, 1,
25,1, 10, 1, 1. 5, 10, 1, 1. 1, 10, 1, 1

jh>>>|
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it : BYIEXEER

)y ARELAANEYIE , mRBSHEY  SelBESEH6E  KEHEEe
NEERE202F , iFRIIEEFEEY , SMERS ?

0 , 3
1 3 4 H
2 4 8 ;
3 5 8
4 9 10
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it : Hinlk/VRigIEE =

 EEATRIAZERNER | KETULARR.
AR 3B R — AT A 2] B AR E, 5y
AR EE MR —ANF &, 209
& BARE A FEN—ANFE, 204

FlanAERiE “algorithm” T “alligator”

--E-----

Hix al 113
BE % @A E%J gz A &l R fEA
o 10 60 5 60 20 5 40 40 240

) RSHRERFRP , PHREN—MHR (FEES&D)
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